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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

Th TR & s qe, PeH e
& HISAE WY HA: Soal & qdT g9
I AT BT & ¢

[1] smisses aderT
[2] s oo
[3] i e
[4] oI e

e NG e B N e | I E G
ffr= grgar &) A el & 8
e, Al fawE & A ' w
SeX g9 % U AR geR @
diem @ idfafeEt @ ST HXd 8
[1] Sg-Gddl A

[2] & farerer

[3] Hehrl A

[4] iRl iR

BR & A aee, e
Mhee & e UMY O G B 7

[1] SfieTer SUFH™

[2] 9T SUFH

[3] T Sgii IUH
[4] ANTGLAYCT SURH
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1.

[

|

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning

[2] Team teaching

[3] Co-operative learning

[4] Programmed learning

classification of
to which

approach of personality assessment ?

Spranger's

personality is related

[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

P.T.O.



[A]

4. F=fifad & @ @9-a fealE &

|

|®

IR NS WA B T 787 8 7

[1] I g § &
[2] SflesT § He
[3] SO ereedt T |l & &

[4] Sraifee Rt |/ g

‘S T AR IR AT 9 sk
fEm & oremd & B, O 98 1O
Y YN Bl WIE T Ybe &Y ol &I’
7€ fH TH &l TSR I & Th
ST & 7

[1] &\

[2] "=

[3] g&qer

[4] feremT=

e & e Gem R @
APER, ‘GEHHh G H B
A 3h1s, SN Rl G AR
3 fraraas § Aeg G ), Feaml
?

[1] Tes1 gfrt

[2] 7 sigfee

[3] BT

[4] GT&or

Level-3/915

[4]

4.

g

|®

Which of the following is not a
symptom of good mental health of

students ?
[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which

type of defence mechanism ?
[1] Repression

[2] Regression

[3] Projection

[4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive

behaviour', is termed as :
[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation



|

|«©

‘YR gfE B AR &5 § " &
Y T H WA b w9 H
oftaie feam S &bl & — daw &l
3@, 30 R H Thigd &, 3
FEN AR 39 e Hl”

Haeds g5 &l 98 IR fhee &

‘TH A B T & TF A ST Fbar
g, fog IW & @ arer & R S
TEa’ I8 U9 deR® & dEd @
fpe foom @t T Sehe X © 7
[1] TR &0 ~EH

[2] S| &1 f+EH

[3] g9 &1 |

[4] sEdfcishar & fEm
frfafag & & PF-a1 {Eor # ®R
TETE 7

[1] STERET &

[2] iq &)

[3] STt &Y

[4] Ride &R

Level-3/915

1.

|

|©

[A]

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a
direct method for measurement of
attitude ?

[1] Interview

[2] Projection

[3] Questionnaire

[4] Observation

'A horse can be brought near water,
but cannot be forced to drink.' This

the truth of
Thorndike's which law of learning ?

[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses

statement reveals

Which of the following is not a level
of teaching ?

[1] Basic Level

[2] Memory Level

[3] Understanding Level
[4] Reflective Level



[A]

11.

fFeffag & 9 &F-a1 SIS 3
qiRfefoe a5 Risia & 9FT 788 ?

[1] wgshl e
[2] B Rreed
[3] AR feew
[4] 74 Rreed
W @ waft @ e ¥ B
T e 7al o !

T FSREI
[1] Y S REIN]
[2] @R ~- U
[3] sme=d S SR
[4] \T - A

(RO WS 11 S e T M |
HI-H TR Faiieen IUgH 8 ¢

[1] |EEIET ) =

[2] G qedl W Hee SieEi
[3] |es TiiaieEl ® e

[4] @fSTh Heei T gre

ARl & AEEh TEghd e &

AR, ‘AN H AR [
U I aTHal & ?

[1] SiekRTTT
[2] QST
[3] Mfs®

[4] HTHE

Level-3/915

[6]

11.

Which one of the following is not a
part of Bronfenbrenner's Ecological

System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

Which way is the most appropriate

for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

Need

Hierarchical theory, 'Esteem Needs'

According to  Maslow's

are which type of need ?
[1] Personal

[2] Social

[3] Intellectual

[4] Emotional



15. FHefad § § -1 & 9

Ngal B YORTHEAT qOEeT § gefad
7 T 7
[1] STETEReT ITANT deidl

[2] gHI & A O GEd § Had
Eoei

[3] I9E YR G FE

[4] T8I T STAM el de Hri

frefofeg & @ ®F-T1 Fu99 Jgas
fafrTarel & ded & 9 7& e ?

[1] &g 4t & &k Qo 9\ T2l
B Hebdll

[2] i fafrTan STer-oTer &=t
q G & Tt g

[3] Jafe faftrae faem & ol
ST &l gifad HYr 2

[4] TR RO daa
HFARIBAT & HROT A Bl |

il FEFAT & AT A &
5% B %o I © 7

[1] Sffqare
2] gead

[3] AT
[4] STl

Level-3/915

[Z]

15.

[A]

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

improvement related

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1]

No two persons can be exactly

alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport

[2] Woodworth

[3] McDougall

[4] Eysenck



[A] [8]

18. TUNI BT H FEIRET ﬂ"fﬁ 79 18. Which of the following pairs of
HIF-H1 G A< H &G Gol § ¢ communication skills is correct for
receiving the information ?
[1] g AR fore [1] Listening and Writing
[2] ST AR Ul [2] Speaking and Reading
[3] G AR T [3] Listening and Reading
[4] ST AR e [4] Speaking and Writing
19. B fEa & AR, frfeti | 19. According to Triarchic Theory,
q HHF-4 ﬂ@ T TH YBR 78 & 7 which of the following is not a type
of intelligence ?
[1] fassoneTs [1] Analytical
[2] GSTHTHS [2] Creative
[3] Tsifan [3] Theoretical
[4] =RIRS [4] Practical
20. HEws & SR, T e &R 20. According to Kohlberg's theory,
F A B, S Afcwar J H—Eﬁiﬁ what level of morality is it, when
Aferep ferai |l & oI € 7 morality  includes  self-accepted
moral principles ?
[1] cﬁ‘"@%‘ﬁ [1] Pre-conventional
[2] ®feTd [2] Conventional
[3] STR-BiGTT [3] Post-conventional
[4] ¥7H 4 318 T [4] None of these
21. fFrfofed & @ SF-H fesiEen &t 21. Which of the following is not a general
U dHN g e 7&f g7 characteristic of adolescence period ?
[1] T& SR Pl Tae 2| [1] Itis a transitional period.
[2] T8 STARAahAretl @l STae Bl [2] Itis period of unrealism.
[3] 98 Jea™ H QN B a5 2l [3] Itis time for search of identity.
[4] 98 ATRA H T&AT 2 [4] It is the threshold of puberty.
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22.

Al ABAT B TR ey
weer fees & faeta e
™7

[1] N & 9F =

[2] S

3] emgelss

[4] e wd ded

23. 99 % MiEd @ ¥ yfaseae &

& 8 AR ® JHEAH SeH
for Smar 2, @ T8 fRE v @
g STEEA © 7

[1] fHig= st
PARECRERINRERRIG

[3] FiYEa ofav

[4] uRgcwelid Sfaaa

et &+ faem  Rsagar,
ERIRCES

[1] Sfces arafasmar @ orawen
[2] 391G @l Afewar i rEen
[3] T Wb @i STae
[4] @R A # T

25. MHeRad § @ SF-91 dE ST

P THREH & G THIGT Bl & 7
[1] FEN fawresyg
[2] GRYEAT i A
[3] SARRET & HH

[4] GerTeTs Hiagfe

Level-3/915

[91]

22.

25.

[A]

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



[A]

26. R U@ U BF TEU I GEE

FAT 51 T8 T SaRT ©
[1] oTiaRe SIREReT %
[2] aRT SAREROT &

[3] STHSTI SARERET &
[4] 39 q %13 T

2. Uh 15 a9 & dh Hl gfE el

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110

% e & s § oy ot @

LRI I B GO B S B |
Frefofad § & @iF-a1 w6 787 w41 7

[1] Aferpar B M
[2] 9T & G B

[3] ufcferar &I wdra
[4] FTErl RidT 1 aiEr

29. @ W ‘&= @ R # T &l &,

FE ©

[1] s iea

[2] SifraAfsed

[3] &

[4] g

T @ 9 5 TR @ AR © 7

[2] et
[4] @mISTS

[1] s=a
[3] STk

[10]

27. What

Rohit helps others to get praise. This

is an example of :

[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

be the
quotient of a 15 year old boy, when

will intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality

[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking
Development which proceeds from
'centre to the periphery', is known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/915
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[A]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

gﬁﬂ'{ :
[1] T - TS, deTEe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] &Il - MR, IR, MU

32. 9 feq § foame 999 ™ &1 5T

g 7

[1] &5 U M &d S =1ie
[2] A dfT gERY, St @ QR

[3] &9 8 &1 FB TEI e bl
[4] ST I, T & AR

33. ‘UMl gU-9 Il B dEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTe
[2] dfqars
[3] GRRHEES

[4] TS

Level-3/915

34.

qugd s =l & oo e &
3ftc § 7 9F R ¢

[1] €8 - 38 dfed; T8 - d4e
(2] g - T; AT - A
(3] G - Feb; Gl - goaarg
[4] @S - &g; Sao1 -

5. S [ @d d@ R @ A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] HYeEares qs1

[2] STicErEes de

[3] WEaE® HEl

[4] HieTarereh Hel

36. FTH { BHI-G1 A FYH & ?

[1] TR FEER qE9 3
2] & & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= ¥ % ¥ oY SUTN @

ST BT B 7
[1] STy [2] v
[3] STgeH [4] =ty



[A]

38. U &l gie § oG faehed T ¢

[1] FFhadT -  HHEARA
[2] AfTEmE - ey
3] 9/mr - &

[4] e - T

39. [ foshcy d foerl @ &1 sEnT gan

T 7

[1] grifteY
2] Tags
[3] TR
[4] fFegX

40. =R A UILHH B ghe § ‘o@T

I TH 9 9 9= & s oM ?
[1] 9

[2] 9

[3] <X

[4] =ffeb

41. oI 1 gt 9 oG faehed YT

[1] S - A

2] 9@ - StHE

[3] & - g

[4] @1 - TSET

[12]

42. =H § &9 9= ¥ ‘omET g9 @

SR e g § 7
[1] Riee
[3] gFmEE

[2] @STEe
[4] qUaC

43. TR & e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44. Y 9= § M @A B

[1] st
[2] ggafe
[3] ugEn
[4] 9T
45. ‘TEH-TEHT H T W FFGIT [
g :
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/915



[13] [A]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
OverIOOked' [2] (1)’ (IV)9 (11)’ (111)
[4] Although he is not cute, but he [3] (iii), (iv), (ii), (i)
cannot be overlooked. [4] (iv), (i), (1), (iii)
41. Change the narration : o )
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... :
be kind to him. o
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be o
please kind to me. [3] has been raining
[4] Kavin ask.ed Mr. .Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that

form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/915

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



[A]

53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

54. Fill in the blank with the correct

form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[14]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/915



[15]

[A]

- III (PART - III)
A 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o 9T &9 U9 STEIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : e 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

g & g9 X JA1 Y B -

TR W TE Ys 21 A Y H WeRr
X3 M@, @Y & Ye
g Remd & ?

[1] ST
[2] &RroT

3] @@
[4] Ui=™

62. @ , PR R 30 @ o B

feam & 3 €2 H, wafh amwEl 4.5 €2
T FA B AR AW @ oA 3 R
gl der B, @ VG 9@ ¥ G @l
e B -

[1] 10 febHt et ger
[2] 12 Tt ufey et
[3] 13 febHl uifer ger
[4] 15 TebHt uifer ger

10.5 841 Bear & Th Gig Hqen
fogares, 3.5 @4 Brewr qanr 3 &
e A B2 B gige § e R
ST &1 TegER, 39 JHR 99 o B
ge far el ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/915

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138



[A]

64. IR FHIF gRT Ak =hgles =T &

AER W 3 a9 FH wHIH AN
Few 32 TN A M, A A A
i & ©

2
171 16=%
L1} 162

1
[2] 335%
[3] 33%
[4] 50%

1865 @RI ® ¥, 660 STISH A T
g A 1305 fft 99 & ©, W
120 & - & & B o 9w &
ST a8, O e AT QT AT
I T & 7

[1] 220
[2] 440
[3] 120
[4] 1085

66. TEA B HEd F 20% B FH & TN

W &F AEH 800 &9 § 12.5 TR
AT gE @48 odl 3, df =@Ed &
g B S e feeel B

[1] 12 59
[2] 14 59
[3] 1589
[4] 16 B9
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64.

If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum 1is :

1] 16%%

1
2] 33-%
(2] 333

[3] 33%

[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons

can speak both languages ?
[1] 220
[2] 440
[3] 120
[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12
[2] Rs. 14
[3] Rs. 15

[4] Rs. 16



61.

e & TH Anwd § e,
AR B 12 A JAT AEA H S
T Bl AR SEH AVGA 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

kB e ORS L e  | [< L

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d@m @ 5, 9, 13 4 fowla

FT G A 2, 6 qAT 10 AT FAA
T UE 999 Bid e ®

[1] 602 [2] 592

[3] 572 [4] 582

uh FREd f 9 § "PARTICLE"
& "USBQFMDJ" @1 "GENERATE"
% "FOFHFUBS" forar Sirm &, o g4
M H2 9 H, "DOCUMENT" &
foran s -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF
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[A]

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826

Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10

respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" 1S written  as
"USBQFMDJ" and "GENERATE"
18 written as "FOFHFUBS", then in
same code language "DOCUMENT"

will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF



[A]

11.

12. 7}

@ T P, Q @M R &1 U 0% 5 He
¥ W &1 9@ R, Q & g M @
T Q, P ¥ I M & @ 8, A
A T P BN % B A H A
g T ?

[1] 226 [2] 25 €@

[3] 30€¢e [4] 3542
ngj aql y:%, @

(> +y?) &1 A9 2

[1] 14 [2] 12

[3] 13 [4] 16

aefeat @t e uRe H, A St R A
103 T WX q B & X ¥ 149
N W g, A% J oo Rufedr wweR
Se odl 8, a1 A 9@t ok q 243
WM W & e 2, ute § asfeat @i
Her fpat ' °
[1] 31

[3] 37

[2] 33
[4] 39

74. Th GHMER TF & B 15% 9 |

ST B, SR 3I09 I 18 FUY AR
4 91 B, @ I§H W 18% &
Sl 39 a&] 1 %9 9 (B0 H) ® ¢
[1] 360
[2] 540
[3] 600
[4] 640
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11.

La. If x

A tank is filled in 5 hours by three
pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P

alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs

[3] 30 hrs [4] 35 hrs
V3+1 J3-1

=———and y=————, then the

J3-1 Y \/§+1

value of (x> +y?) is :

[1] 14 [2] 12

[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640



15.

Th HE P SEE@ 9000 B, AT gEui
P THEE e W 5% AR wiewnst
H e W 8% & T TH a¥ H
SHEA 9600 B, o geSl &l e
g

[1] 3000
[2] 4000
[3] 5000
[4] 5600

D,CTNE @ @1 &, A, E § a1
T e R, C, Ad @, D, B A
ARE TN TG B, A TH W DA
qI9 T 8 7

[1] A
2] B
3] C

[4] D

11. TF TSH & BEA® H AKX G

XA BT X ¥ &el fh ‘a8 A e S
% B G H dsH o7, W ASH!
X ¥ g yer d@dg B ?

[1]
[2] 91§
[3] S8

[4] =T
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15.

11.

[A]

The population of a town i1s 9000. If

the males increase by 5% and

females by 8%, the population would
be 9600 in a year. The number of

males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?
[1] A
[2] B
[3]1 C
[4] D

Pointing to a girl in photograph, X
said "She is the daughter of my
grandfather's only son". How is the

girl related to X ?
[1] Father

[2] Brother

[3] Sister

[4] Mother



[A]

18. U A §5 Al (oRMel gd & ufRem

P SR S W & T IAX A IRT B
IR & T @, Ao IubT ol fha
fesm & S@ ?

[1] So-To

2] So-Yo

3] To-Yo

[4] To-To

=1 e Aoft 1 o UE R

3,13,22,32,59, 69, 120, 130, ?

[1] 201

[2] 211

[3] 227

[4] 232

9 s TS H AT 1 %, g ITH

A ST @Sl d P HT R
ST, @ S Ed e 8 SR ?

[1] @& §H= B/
[2] 1% gig &Rl
[3] 1.5 @ gfs Bt
[4] 2 @I g Brl
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78. A steam engine train runs from east to

west and wind is blowing from north to
south, then the smoke from the train

would blow in which direction ?
[1] N-W

[2] N-E

[3] S-E

[4] S-W

79. The next term of the following

number series is :

3,13,22,32,59, 69, 120, 130, ?
[1] 201
[2] 211
[3] 227

[4] 232

The average of nine consecutive

numbers i1s n. If the next two

numbers are also included, the new

average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5

[4] increase by 2



8l1.

BRATT & T W ® AR

TR 9 & ded TIaX W & &9

T arfergfer fear T E ?

[1] YR TSE & X fHeEm
FeIg ARG

2] TR TEE I AR g™
Felg ARG

[3] TEX g9oild TR &R &R
RIRCTE geila A9IRTg

[4] SgMEX  FEE  AWARYG AR

G- g=aoild TRy

82. ifhd FeMi W fa=aR R :

() eRAmm § wgE Hen o @l
AT a9 2002 § & T8 oy

(i) =Y Ww U eRAen U &
EENERIEIRES D

[1] %7 (i) T B
[2] ®ad (i) & B
[3] () @ (ii) 3 @& 2
[4] (1) TG (i) T T 2

83. BRAM & fFE X B TS o6 ax

BT % ®q § ST AT B 7
[1] ToIH [2] AT
[3] daa [4] F@T
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8l.

[A]

Which places of Haryana have been

notified as Ramsar site under

Ramsar convention of UNESCO ?

[1] Park &

Bhindawas Wildlife Sanctuary

Sultanpur  National

Park &
Khaparwas Wildlife Sanctuary

Kalesar  National

(2]
[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &

Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram [2] Sonipat
[3] Panipat [4] Bhiwani

P.T.O.



[A]

84. M ¥ FHMEGd ©Rel H 9

86.

fre g @i ®Re @ g urd
g7

(i) G TG F TR
(ii) S AR dras

(iii) HrRar AT Bt
@& HE F T HIT
[1] (i) &R (i)

[2] (ii) S (i)

[3] () A (iii)

[4] (i), (i) & (i)

85. AT % oMM &R F ST

glaegrett &1 fae w9 & fog e |
q B-d der FeRR B 7

[1] BRgH

[2] &1

[3] CHUHARAESE!
[4] Rt S &=

Frefefed & @ a9 eRaem &
T % &R gE 78 & 8 ?

[1] REmm &% gegus
[2] GoT9 TG ERIAOT I <AEFed &l
T

[3] eRAOT @ FAT SN @
e

[4] eRATM AFAEER SRR H 95
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1)) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (1) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

BT F MEfargg eu d 9
I T AABIE o7 ?

[1] g GoT i
[2] STogE ol BTl
[3] &fveh AT Hed
[4] 919 AN

IR 9899 99 AT % AR A

frfafaa el @ afeT ¢

(i) T8 AT IRER B & HE @
w0 4 RBfeTd &l B R T
BRATT & GHE URERl B Th
fasaeg  de-oni®  Sered
TR K @ 2

(i) 9% URAR H TH S bl Hl
fodeeT URaR UeAM  ofEfved i
S W ? R weEm (ID) &
S, g U4 qaied Relgd d
ST S

(iii) AR TeaM Se@d ¥ Su@e ST
ST AT B AT st
4 @ 99 8] B Sem @ik
ROt & @F deett & [

ST A Dl STAIHA -T&) arlll
g&l %< Bl FAAT HifoT :
[1] %t (i) @& B
[2] () 3R (i) @& &
[3] (i) &N (iii) & T
[4] (i), (i) &N (i) &
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81.

[A]
Who among the following Governors
of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(i11)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.

[4] (1), (i1) and (iii) are correct.

P.T.O.



[A]

89. BN & TUE & ey H

frrfafad wemi WX faR iR

() @& sfEen d=E fasatEe @
e 2

(ii) 98 T & foell ot 9 & 9 B
qRYT P T 2|

(i) d& 3PEqq T® ®E AEREd,
BTN T A B AT B

(iv)32 Giea & S B
wiaaag afd < &t

S | | DE-AUA I 78] ofs ?

[1] (), (i), (iii) S (iv)

[2] (ii), (iii) 3% (iv)

[3] ®ad (iii)

[4] (ii) & (iii) I

gRaen § @ | ok TS | @
e 2

[1] 7 3R 4

[2] 10 3R 4

[3] 108iR 5

[4] 128% 5

[24]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(i11) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary  power  granted

under the Constitution.
Which of the above statement(s)
is/are correct ?
[1] (D), (ii), (iii) and (iv)
[2] (ii), (iii) and (iv)
[3] Only (iii)
[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10and 5

[4] 12 and 5

Level-3/915
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[A]

1T - IV (PART - IV)
A s (PHYSICS)
3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

e ot & Hed H @ Ry ™
fGhedi ®§ 9 Tq s @ 9O
FIT

[11 P(P +QR)=PQR

[2] QR(PQ+R)=PQR

[3] P(QR+QR)=PQ

[4] P(PQ+PR)=0

92. & UoRgS (§9%) T6 9 I YER

W W TP I W -
R & TEAd &, dE DS T
a9 2N S S Th aEdT
qeRigS (ga%) 36 e & @M I ©
fF SOH1 GO ST o @ STl @
T 45° % HIOT G BN AN AEe
(gal) & ddSH 8/ off SR
TRl TEdl d URHd SfSr @Rm
(sK9% e (o) @ oMmeet qH)

Level-3/915

9l1.

In context of Boolean expression,
choose the incorrect expression from
the options given below :

[11 P(P +QR)=PQR
[2] QR(PQ+R)=PQR
[3] P(QR+QR)=PQ
[4] P(PQ+PR)=0

92. Two polaroids are placed together

such that their transmission axes are
perpendicular to each other, so that
no light is transmitted. A third
polaroid is inserted between them
such that its transmission axis is at
an angle of 45° with respect to each
of other axes. The fraction of
incident unpolarized light intensity
transmitted by the three polaroids
combination will be (assume each

polaroid is ideal) :

) L



[A]

93.

TH AJSAE AE A SATT-ITAA
gharel @ &g B Ghar 81 UEdl
Rl & fog ooy t; 8 ol gEd
uisem @ fom ¢, B WA i
% e oTefeTyg T B

[1] T:tl +t2

[2] T= 1lt1t2

_htit
tity

tty

[3] T =
1+

[4] T

@ g d e B dR @
10cm x 6 cm & 10 cm x 11 cm T@®
Jom ¥ foram T & 3 x 107 T B
e 1 7 @ (N/m ¥) 8 -

[1] 1.0x 1072
2] 1.5x 1072
[3] 3.0x 1072

[4] 6.0 x 1072

95. Bihd @B 10 cm & TH Il

AR o, Th Rl o e
WW@IOcm%a6cmEﬁ§ﬁ
W Y@ T3 A dd & a @l
@'@"ﬁ(cmﬁ)t
[1] 6 [2] 3

[3] 16 [4] 20
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93.

A radioactive nucleus can decay by
two different processes. The half life
for the first process is #; and that
for the second process is t,. The
effective half life 7T of the
radioactive nucleus is :

[2] T = 1lt1t2

_htity
tty

[1] T:tl +t2

31 T=12
t+1tp

[4] T

The work done in increasing the size
of a soap film from 10 cm X 6 cm to
10 cm x 11 cm is 3 x 107* J. The

surface tension of film (in N/m) is :
[1] 1.0x 1072
2] 1.5%x 1072
[3] 3.0x 1072

[4] 6.0 x 1072

95. A thin converging lens of focal

length 10 cm is placed 6 cm away
from a divergent lens of focal length
10 cm. The distance between two
principle planes will be (in cm) :

[1] 6 (2] 3

[3] 16 [4] 20



96. TH oSy N9 & TH HA P e

ot E:%RT g, @ Cp @ aW
21T :
[1] 0.1 R [2] 0.5R

[3] 1.5R [4] 25 R

97. HEMT 50 kHz & WA T 40 cm

oW g G e few (I)
FARUIRY 1 e o i o BT o e e

0 W g §F 3 e’ ©
[1] 9m [2] 10 m
[3] 18 m [4] 20 m

TH HivEH (Cs) dd8 T 1980 A
TORE H T Hdae S St
Ad Bl 0.5% ¥ FEieH T AEQ
W, YR BN aml YR fagda 9w
Eﬁ‘ﬁ(uAﬁ):

(Sifsm &1 #E % = 1.90 eV, @i®
gl h = 6.6 x 107°41-S wd eI
B AT ¢ =3x 10° m/s )

[1] 0.8
[2] 0.08
[3] 0.16

[4] 1.6
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[A]

96. The kinetic energy of one mole of an

ideal gas is E = %RT , then value of

Cp will be :
[1] 0.1R [2] 0.5R
[3] 1.5R [4] 25 R

917. Ultrasonic waves of frequency 50 kHz

are produced in water by a radiating
disc having a diameter 40 cm. The
width of the main beam at a distance

of hundred meters is :
[1] 9m [2] 10 m

[3] 18 m [4] 20 m

98. One milliwatt of light of wavelength

1980 A is incident on a Caesium
(Cs) surface. Assuming a quantum
efficiency of 0.5%, the photoelectric
current librated will be (in LA) :

(take
Caesium = 1.90 eV, Plank constant
h=6.6x10*]-S and velocity of
light ¢ = 3 % 10° m/s)

work function of

[1] 0.8

[2] 0.08

[3] 0.16

[4] 1.6



AU & AT G O % oo H, T
& o R ™ E

(a) [ & HeH A U9 U R
R | STfel & HE AR
% APRY FT W MR F@ 2

(b) &t & STopeT @ WA gEd 9Y %
S B AR @ FF EM W aW
THE AT § TFH Pl HE& HS
S R

gel fasea &1 Faq i ¢
[1] H&F (a) 31X (b) a1 G

[2] ®EF (a) 3T (b) Fl 16 &
[3] & (a) T AT &9 (b)

A ©
[4] 9 (b) T ARBT (a) ST9H &

g L 3 0% W & T F P
8q 9 e @I gl AR Y A p HAM:
I JERIAT Tl AR g6 TR B
T &, df 3 @d B 9K B BRI,

! T | gRs ©
pgL’ pgL’
1] P& 2] P&~
1= 21 =2
PgL 41 PsL
B 41 55
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99. In context of mean free path of

molecules, two statements are given

below :

(a) The mean free path of a
molecule depends wupon the
number of molecules per unit
volume and the cross section of
the molecule.

(b) The mean free path of molecules
in gas increases and the number
of collisions per unit volume
decreases with the lowering of
pressure.

Choose the correct option :

[1] Statement (a) and (b) both are
true

[2] Statement (a) and (b) both are
false

[3] Statement (a) is true but (b) is
false

[4] Statement (b) is true but (a) is
false

A thick rope of length L is hanging
from the celling of a room. If Y and p
are respectively the Young's modulus
and density of its material, its increase

in length due to its own weight is :

pgl? pgl?
1] Be= 2] Fo=
1] Y 2] 2Y
pgL pgL
3] Pz 41 Eo&
3] Y 4] 2Y



101. A W @ Th JasH &l =

[

[

PR & GG BF) R oM F7:5%
orgu # aRec HgREE (T i g

W g€ S9 U9 &l 21 IR N #:
I 330 m/s B, A HR B AT RN
[1] 27.5 m/s

[2] 55 m/s

[3] 77 m/s

[4] 110 m/s

I P guEY T, T&® B dlgar [ B
TH-TER & A AHTT B 51 AR
AP (i) B TG ST (i) Hell
G &, o oIaw deaett @l
STIUI BT :

[1] 1/P [2] 1/ P>

3] P 4] P?

Uk e AfeE & fom Ior

ol (Q) Tl fsii~d ®I (1) HAM:
2

[1] L @ A
[2] g T S

[3] =1 T A

[4] = UG 3=
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101.

=
N

=
w

[A]

A policeman on duty detects a
change in the frequency of the horn
of a moving car in the ratio of 7 : 5
as it crosses him. If the velocity of
sound is 330 m/s, the speed of the

car will be :

[1] 27.5 m/s

[2] 55 m/s

[3] 77 m/s

[4] 110 m/s

If P
intensity I interfere with each other.

indentical waves each of

The ratio of maximum intensities, if
the interference is (i) coherent and
(i1) incoherent will be :

[1] 1/P [2] 1/ P>
[3] P [4] P2

For an undamped oscillator quality
factor (Q) and relaxation time (T)
must be respectively :

[1] zero and zero
[2] zero and infinite
[3] infinite and zero

[4] infinite and infinite



[A]

104. Uh A & FL FH &S AgHISA &

a9 & IR A 81 AR 300 K % a9
W TR IFAFEE BE Y, A4
A9 BT

[1] 300(4)%/7
[2] 300(4)2/7
[3] 300(2)7/?

[4] 300(4)7/2

105. M @ A H# W o B

[
[=}]

A A9 & [T, S9-a9 @ STfeekaq

HIHE U & Tl ©
[1] <o 2] >
[3] =« 4] =2

% | MHz @ s 100 A
HHUE AEqRE B Th GaHd av qeT
N oM Higfa B B od @
PA-8 g diggacs d@aha (ReEea)
¥ Sufeerq & &R ?

[1] 990 kHz
[2] 970 kHz
[3] 1020 kHz

[4] 1030 kHz
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104. The pressure inside a tyre is four

el

ot

times that of atmosphere. If the tyre

bursts suddenly at temperature

300 K, the new temperature will be :
[1] 300(4)%/7

[2] 300(4)2/7

[3] 300(2)7/?

[4] 300(4)7/2

The distance of the eye-lens from the
retina is o. For a normal eye, the

maximum focal length of eye-lens

can be :

[1] <« 2] > o

3] =a [4] =20

A 1 MHz sinusoidal carrier is
amplitude modulated by a

symmetrical square wave of period
100 micro second. Which of the
following frequency will not be
present in the modulated signal ?

[1] 990 kHz
[2] 970 kHz
[3] 1020 kHz

[4] 1030 kHz



107. FUSHHIE @A &l dleere & ded

TR o R W E

(a) TR Yar oriteeaw fear @l
Bt s A L ek J & A9
7 gftgds @9 F &9 2

(b) I wH q AE qUEEHE @S
G Ll DG | B | B B G
AN & @ aome 3@ TEd 3
af ¥ s R @ ) 3
SeIqq 99 § 8 2l

ACCC
[1] HF (a) 8 (b) 31 T B

[2] P9 FIT (a) TE B
[3] %9 FHIT (b) T B
[4] T F9 (a) 3R (b) & & &

BRSO UYWAY i A fEer H
Sde W AN AETH G

T TR AW B (S aqp= X A

Tedll e i B B)
ao

1 =9

[1] r 5
3a

2] r=-2L

2] r 5

3] r=a,

[4] r=2a0
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107.

[A]

Two statements are given below, in
context to intensities of spectral lines :

(a) The spectral line is maximum
intense for which the changes in
the value of L and J are the
same.

(b) If the changes in the value of L
and J are the same for more than
one spectral than that
spectral line is most intense for
which the transition takes place

from the highest value of J.

line

Choose the correct option :

[1] Statement (a) and (b) both are
correct

[2] Only statement (a) is correct
[3] Only statement (b) is correct

[4] Both the statements (a) and (b)
are incorrect

The maximum probable distance of
electron in the ground state of
Hydrogen atom from the nucleus is
equal to (Here ay= Bohr's first orbit
radius) :

a
1] r=-2
11 - 5

) r=%

[3] r=a,

[4] r=2qa
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[

Qzﬁﬂaﬁﬂﬁ'aﬁ9.0¢mﬁﬂﬁ%aﬁﬁ
(W= 1.5 % 99 g &G Al B
W ¥ WA W U g MmN g
o @ it gu e 37 7

[1] 5.0 cm
[2] 4.0 cm
[3] 3.0cm

[4] 1.5cm

Th g9 ¥ IR B W a9 21 a9 o
TR & 9 A 0.8 gm/cc AR
13.6 gm/cc 31 30 Sa9 H TH GHiN
T Gxar & foree o e R A
&R AU ST AN dd 7 G gaw B
ﬁ%mﬂm(gnﬂccﬁ)%:

[1] 7.2 2] 12.8
[3] 6.4 [4] 12.4

e UF ogHRd oGl adw  H
ﬁ%ﬁWSOsec%,ﬂTa'éW

WWW%W%%W

e A B ST, B
[1] 50 sec

[2] 100 sec

[3] 150 sec

[4] 200 sec
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109. A printed page is kept pressed by a

glass cube (UL = 1.5) of edge 9.0 cm.
By what amount will the printed
letters appear to be shifted, when
viewed from the top ?

[1] 5.0 cm
[2] 4.0 cm
[3] 3.0cm

[4] 1.5cm

A vessel contains oil over mercury.
The density of oil and mercury are
0.8 gm/cc 13.6  gm/cc

respectively. A homogeneous sphere

and

floats in this vessel with half its
volume immersed in mercury and
the other half in oil. The density of
the material of sphere (in gm/cc) is :
[1] 7.2 2] 12.8
[3] 6.4 4] 12.4

If the relaxation time of a damped
harmonic oscillator is 50 sec. The

time in which the energy falls to L4
times of the initial value will be : ’
[1] 50 sec

[2] 100 sec

[3] 150 sec

[4] 200 sec



112.

ol
ol

d p R 0% @@ 7 & A W
TORE A H TR qT #;oHAl O

vy = ZIPT & o R o R
e 9 B

[1] 2v, 21 3v,

31 v, 41 v,

A Jg= 30 uA/cm?, J = 2A/cm?
A é=46.06 Ry e B, p-n G
SE & U YWY oW dicedl & A
THT B

(10g102 = 0.3010, 10g103 = 04771,
log1p5 = 0.6989 )

[1] 0.25V [2] 0.05V
[3] 0.50 V [4] 0.025V

A = TR il A G = e
1 T o)

__(9G _[ 96
o) o-(2)

_ (oA __[oA
2] p= (aSjTeﬁ'{ S = (Bpl,

oH oH

[3] V:(gjsaﬁ_{ T—(gjp
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112.

e
[

[A]

The phase velocity of surface waves
of wavelength A on a liquid of
density p and surface tension 7 is

given by v, = }2;T gh . The
p

group velocity will be :

[1] 2v, 2]

31 v, 4] 5

If Jg= 30 uA/cm?, J = 2A/cm?
and %=46.06 per volt, the value

of applied forward voltage for a p-n
junction diode will be nearly :

(Take logjp2 = 0.3010, logy(3 =
0.4771, log;5 = 0.6989)

[1] 0.25V 2] 0.05V

[3] 050V [4] 0.025V

Which one of the following Maxwell
relation is correct ?

(U = Internal energy, H = Enthalpy,
A = Helmholtz free energy and
G = Gibbs free energy)

G G

1 =— — d

Ul (avaan = (Bpj
0A 0A

2 =] == d =

=l (BSJT and 3 (apj
oH oH

3 dr=[

[3] V= (apjsan T (asjp

U U
4 7=Y) and p=| 22
4] (av}s amep (asjv

P.T.O.
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115.

116.

% B B qORE  ZAdel bl
-l aeR" & g9H 21 Fefied
T q ®H-a1 T g 2 7

(ZIE\‘TEeGﬁTEphW’H@TW
H T o AR P, @R Py,

R AR B 3 Fa )
c = YBI H AqA@ T v = TAdg
A
E 2c
[1] ===
Ep/’l \%
E v
2] —¢=—
Eph 2C
P 2c
3] —¢ ==
Pph \%
P c
[4] —e=5
Pp/’l 1%

frefeiea ® 9 @& faeed &1 o=

T

[I]Qzﬁgﬂ% HT Holl &L qad
|

2] @& s o & eff o

WY gqd 2id 2

[3] T A & FUA Foll &R e
B § AT g M gl W R
B R

[4] & fawams o) & goff &on
&R fafeed @ & dfe w99 gl
W T&l e 2l
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115.

A photon has some wavelength as
the of
electrons. Which of the following

de-Broglie  wavelength

relation is correct ?

(Here E, and E,, are Kkinetic
energy of electron and photon and
P, & Py,

electron and photon)

are momentum of

¢ = speed of light and v = speed of

electron.

] Ce =2
Eph

2] Ze=t
Eph 2c

3] e =2
Pph 1%

4] e =C
Pph 1%

Choose the correct option among the
following :

[1] The vibrational energy levels of
a molecule are continuous.

The rotational energy levels of a
diatomic molecule are
continuous.

[2]

[3] The vibrational energy levels of
a molecule are discrete but not
equispaced.

The rotational energy levels of a
diatomic molecule are discrete

but not equispaced.

[4]



117. T% npn g & fou Iwafs

Mg fo=md & 4ro e o, 0.98 B
7€ 12 pA P IopH G 9RT AT 2
2 mA P TH IEIH O B AU
YR AR HIUESH g B AN
HA: B

[1] 1.948 mA, 28 HA

[2] 1.972 mA, 28 nA

[3] 1.98 mA, 56 pA

[4] 1.96 mA, 56 pA

IS &iE () (L = 1.55) @ B
H 6° 31 fRie P (W) (L= 1.66)
H B9 BT AT &SRy, di

i B A e et
(direct vision spectroscope) H IUANT
fpd T &b 7

[1] +5°
[2] =5°
[3] +7.2°

[4] =7.2°
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117.

[A]

The current gain o of a npn

transistor  in common  base
configuration is 0.98. It gives a
reverse saturation current of 12 pA.
For an emitter current of 2 mA, the
value of base and collector currents

are respectively :

[1] 1.948 mA, 28 pA

[2] 1.972 mA, 28 pA

[3] 1.98 mA, 56 pA

[4] 1.96 mA, 56 pA

The prism angle of crown glass
(W = 1.55) is 6°. What should be the
prism angle of flint glass (L = 1.66),
so that the two prism together may be

used in a direct vision spectroscope ?

[1] +5°

[2] -5°

[3] +7.2°

[4] =7.2°
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119.

T ©R & a1 e § R
I GHz g W @i =1 T8
500 m A $ TR B A W R
31 oA g8 B9 9% 78 g @
e W Red agg ® @ (dgRd
FX) T, © ¢

(gt @t Bear 6.4 x 10°m )
[1] 50 km
[2] 64 km
[3] 40 km

[4] 80 km

100°C 9 ¥ & 10°C W 20 gm
gt # | SR ST 3 S a6
ag 80°C & iar ®, O faeme wwi
& AT BT

[arfr bt fafmse ST = 1 cal g loc!
&R A9 H A B = 540 cal g
]

[1] 22.5 gm

[2] 23.5 gm

[3] 24.5 gm

[4] 21.5 gm
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119. A radar has a power of 1 kilowatt

and is operating at a frequency of
GHz. It is located on mountain top of
height 500 m. The
distance upto which it can detect the

maximum

object located on the surface of the
earth is :

(take the radius of earth 6.4 x 10° m)
[1] 50 km
[2] 64 km
[3] 40 km

[4] 80 km

Steam at 100°C is passed into 20 gm
of water at 10°C. When

acquires a temperature of 80°C, the

water

mass of water present will be :

[ take specific heat of water = 1 cal
g_1 °C™! and latent heat of steam
=540 cal g7

[1] 22.5 gm
[2] 23.5 gm

[3] 24.5 gm

[4] 21.5 gm



121.

[
N

S 200 V W @R 200 uF % Th
GuiET & 2 Q 8iX 8 Q & UeRg d)
SN STCV-STT SRR fhar ST 2,

q9 I F HAA: B (A H) ¢

[1] 4,4 2] 4,8

[3] 16,4

Th GO A9 H & TS &
d= 9 % fau Refost S &M g9
TR B

[4] 4, 16

a b

U(x) = — ——

(x) 1276
Y & fow s et Brl

1/6 1/6

2a b

17 [=2 21 | =
] (bj - (261)
3] b%/2a [4] b%/4a

T FEHI G B AR IR e,
IGH TR H G F TOT &l TS
U AEdh T & HY Afs aw o
A FA 5l 3 P IS ARN A

AN d=E 3 dad ded W, T
qN & S B STFAHA & :

[1] P21T [2] PT

3] P2T [4] T/P
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ot

21.

=
N

[A]

When a capacitor of value 200 pF
charged to 200 V is discharged
separately through resistance wire of
2 Q and 8 Q, then heat produced will

be respectively (in joule) :

[1] 4,4 2] 4,8

[3] 16,4 [4] 4,16

The potential energy function for the

force between two atoms in a

diatomic molecule is as follows :

a b

x12 x6

U(x)

The dissociation energy for the

molecule will be :

1/6 1/6
2a b
11 | — 21 | —
[1] (bj (2] (251)

3] b%/2a [4] b%/4a

The breadth and thickness of a
magnetic needle are negligible
compared to its length. It oscillates
in a horizontal plane with a time
period 7. The period of oscillation of
each part on breaking it into P equal
parts and perpendicular to the length

1S :
[1] P21T [2] PT

3] P2T [4] T/P



Th R Brodl & MaiE Mol &isr &
% HROT FEhG AYC B AN

T o TAE HI B OEE A @ o
I A9 9 o)

——~ QWY

ER4 0]
3
g75R4co<5
3

[3] gnR4coG

[4] nR*0o

I FohH HEd a9 & FN Tl
T F WY ¥ IR ©, Ol
Sebadl (€) SR FA it (E) 8RM

[1]1 €e=0,E=0
[2] e=1,E<O
3] e=1,E=0

[4] e<1,E=0

Th O Pl UREM A €N
gaifedt 5 divimA & &R 3@ WgH
qeedt  gafedr  (wof  fE@wer  sfd
FHE dleedn) 20 div/V 31 aRE &
g 8RT

[1] 500 Q [2] 250 Q

[3] 40 Q [4] 25 Q

Level-3/915

[38]

124.

The value of magnetic moment due
to the rotation of a charged spherical
shell of radius R is :

(Here o is the rotational velocity of
spherical shell and © is the surface
charge density)

[1]

ER4 0]
3

(2]

an“coc
3

[3] gnR“oxs

nR4(oc5

[4]

If trajectory of a moving body under
inverse central force is parabolic,
then eccentricity (€) and total energy
(E) will be :

[1] €e=0,E=0
[2] e=1,E<O
3] e=1,E=0

[4] e<1,E=0

Current sensitivity of a moving coil
galvanometer is 5 div/mA and its
voltage sensitivity (angular deflection
per unit voltage) applied is 20 div/V.
The resistance of the galvanometer

will be :
[1] 500 Q [2] 250 Q

[3] 40 Q [4] 25 Q



127. Uh HEMRS i €T 6 ol A

[
N

7/6 TN & SR B AR @l &
e tz%d P Waga e yas
FE RN B SR d W & AF gl

R qUagd Sl P WA @ -
[1] 14/11 2] 11/7
31 7/6 [4] 11/6

U%H TEIFR & P gar § Bepal § o
@ fed g T o S g
T BRI &, A 98 Th 5 Bkl 21 A
98 A% 9% § N T Bahar &,
I fpat SHaE d% St & 7

[1] 2g/N [2] N/2g

(3] ¢/2N° [4] N/2g

Th TG T B B H HC &
0.25 cm’ 81 38 4000 A/m TFal A
JEHE & F T A 2w |
T a g W @B AN
25% 107° Wb R, 79 wrf & g

yafd H 99 H9 ©
[1] 199 [2] 198
[3] 197 [4] 200
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[A]

127. The capacitance of a capacitor

=
N

becomes 7/6 times of its original
value, if a dielectric sheet of

thickness = %d 18 introduced in

between the plates. Where d is the
separation between the plates. The
dielectric constant of dielectric sheet
1S :

[1] 14/11 2] 11/7

[3] 7/6 [4] 11/6

A Juggler throws ball into air. He

throws one ball whenever the
previous one ball is at its highest
point. How high do the ball rise if he

throw N balls each second ?

[1] 2g/N [2] N/2g

(3] e/2N° [4] N/2g

The cross section area of a rod of
magnetic material is 0.25 cm’. It is
placed
intensity 4000 A/m. The value of the
magnetic flux passing through the
material is 25 x 107° Wb, then the

value of the magnetic susceptibility

in a magnetic field of

18 close to :
[1] 199 [2] 198
[3] 197 [4] 200
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130. & M +0 IR —Q & x-FT W

FHAM X =+ a A x=—a T W@ ™
3 Th AN +g H - W A
frg @ y 0 @ @1 T 81 R ¢
WA 8 -

1 Qq 5
1
1 Qq 5
2 -2
1 Qq <
2
[3] Ity (@ + yz)( X)
4] 24 2a)

qe gy Mala & fagmsiaar ok E
e &7 8, T ek’ &1 fomr &

[1] se/a=Tg
[2] T4
[3] St

[4] SR | | #iE TE

T % T Bad & @9 ° Th O A
0<t<T® W i=+> & &g § aftig
fFoT o ®ham Bl 39 9T @ r.ms.
9 B -

[1] T/+/3
31 73/7

2] T? /5
[4] T/~2
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130.

Two charges +Q and —Q are placed
on the x-axisatx =+aand x = —a
respectively. A charge +¢ is placed
on the y-axis at a distance y from the
origin. The force on charge ¢ is :

1] — Qq

(2y9)

1 Qq
2
2 4ney (a* +y?)

377 (—249)

1 Qq

e (a® + y?)

[3] (2yx)

1 Qq
4

(—2a%)

If € is the permittivity of free space
and E is electric field, then gpE 2 has
the dimension of :

[1] Force/length
[2] Pressure
[3] Energy

[4] None of the above

A current as a function of time can
be described as i =% for0 <t < T.
The r.m.s. value of this current is :

2] T? /5
[4] T/~2

[1] T/+/3
31 73/7



[

T M om @ & &9 ST
I Y W BRA B
AGE Bt R & T g & = 3R
g 1 T T A M ©

2Gm Gm
[1] R (2] R

Gm Gm
[3] SR (4] 1R

30 W/m? Soft gt Bl G Bl T
AR Y P Tde W Eaq
B B AR Il H FB AR
(25%) &dE § WEkid B & AR
Iy @A B S B W &
I m? T T T qA T S

[1] 625x 1078 N
[2] 10.0x 10 N
3] 125x 1078 N
[4] 25.0x 107° N

% 4 g r B BT B &9 F,
Bear R & % A & MY S
p(r) = por 81 30 A faawor & Helt
2 (HT aS ® Q A)

1 0

Tne, R
1 02

6me, R
1 0?

Smey R
3 0°

20me, R

[1]

2]

[3]

[4]
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133.

=
w

[A]

Two particle of equal mass m go
round a circle of radius R under the
action of their mutual gravitational
attraction. The speed of each particle

is :

2Gm Gm
1 ,/— 2 ,/—
[ R 2] R

Gm
R 4] ||——

4R

30 W/m’ energy density of sunlight
1s normally incident on the surface of
a solar panel. Some part of incident
energy (25%) is reflected from the
surface and the rest is absorbed. The
force exerted on 1 m? surface area
will be close to :

[1] 625x 1078 N
[2] 10.0x 10 N
3] 125x 108 N
[4] 25.0x 10° N

A sphere of radius r has charge
density p(r) = por as a function of
distance r from the centre. The
energy of this charge distribution is
(consider Q as the total charge) :

1 0

Tne, R

1 0?

6me, R
1 ©0?

57580 R

3 Q?

20me, R

[1]

(2]

[3]

[4]




bt

[

[

P 1% AN
2% &, A T9d ® HOT H SAfmdd

ot

[1] 2%
[3] 5%

2] 3%
[4] 7%

S 20 ¢ B T H9 10 m/s &
A § FHAE FI Hl A Bl A
Bl H & HW M & AR THeEHy

g9 & fRar T wE A
[1] 0.57 [2] -0.5]
3] =1.0] [4] 2.0

Bedl R & U% A o & e
fga &, STel W 30 o -9 W

AR gar P=Pi %,
P P
1] —% 2] ——%
[1] 380)6 (2] 380)6
P P
3] -3 4] =%
[] 2€0x [] 2€0x

Joficp H €A H W A dfeEt
# A g 18 Q B @ TR
TAMIGE w9 H dafd R omr @
9 & gRg 4 Q B 3 e &
iRIE HAM T -

[1] 12Q, 6 Q
[2] 10 Q, 8 Q
[3] 14 Q,4Q
[4] 13Q,5Q
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136.

[
]

=
w

=
(]

The density of the material of a cube
is measured by measuring its mass
and length of its side. If the
maximum error in the measurement
of mass and length are 1% and 2%
respectively, the maximum error in
the measurement of density is :

[1] 2% [2] 3%

[3] 5% (4] 7%

A particle of mass 20 g is thrown
vertically upwards with a speed of
10 m/s. The work done by the force
of gravity during the time the
particle goes up will be :

[1] 0.5] 2] -0.57

[3] -1.0] [4] =2.0J

Electric field inside an insulating
cylinder with radius R, where its axis
is on z-axis and carrying polarization
P=Pi is:

P P

[1] —% 2] ——2%
380 380
280 280

The equivalent resistance of two
resistors, when connected in series is
18 Q. When they are connected in
parallel the equivalent resistance is
4 Q. The resistances of these
resistors are respectively :

[1] 12Q,6Q
[2] 10 Q, 8 Q
[3] 14 Q,4Q
[4] 13Q,5Q



140.

Th 2 QP 909 § 2 A @ 4N
JaTfed Bkl § 9 98 Uh i & e
BT 81 9 Q & g & 3 81 W
TE U 0.5 A F 9] T8 FE 2

Il & SAidRew Ui ®
1] 1Q [2] 12 Q
3] 13 Q [4] 1/4 Q

Uh T [agd W & Fehig &
fhaa 2 S Th-gEe | 75° &
W gH & 2 Th guHE &5 H
oREmer V2x107%T B ogE & B
Y 30° & &Y W {agd e e
T BT ol TEX TEHE & &
qRATT BT

[1] 0.04 T
[2] 0.03T
[3] 0.02T
[4] 0.01T

T T H e ¢ = 0 W g AR
t =1t TE x Bl I8 4TS x foam H
T I B T M A B S
v=ox & B F FEe@ @B
el o feRi® B, d9 & B AT

AR B ©

[ * 2] ¢

3] 7 [4] 7
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[A]

140. A current of 2 A flow through 2 Q

resistor when connected across a
battery. The same battery supplies a
current of 0.5 A, when connected
across a 9 Q resistor. The internal

resistance of battery is :

[1] 1 Q 2] 12 Q

[3] 1/3Q [4] 1/4Q

A magnetic dipole is acted upon by
two magnetic fields which are
inclined to each other at an angle of
75°. One of the magnetic field has a
J2x107T.  The
dipole attains stable equilibrium at
an angle of 30° with this field. The
magnitude of the other magnetic

field will be :
[1] 0.04 T
[2] 0.03T
[3] 0.02T
[4] 0.01 T

magnitude of

The displacement of a particle is
zeroat t =0 and itis x at t = ¢. It
starts moving in the positive x
direction with a velocity which
varies as v=o~/x where a is the
constant, then the velocity of the

particle is directly proportional to :
[ ¢ 2] ¢

3] 7 [4] 7
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143. TF & gl AR e FHEiR

143. An inductive coil and a capacitor are

N 90 e gU Bl AR L =1 mH ©@
C = 0.1 puF &, af gl & Ty &
SARHTT AW T & FHA o [ ARG

connected in parallel. If L = 1 mH
and C = 0.1 uF, then what can be the

maximum value of resistance of coil,

QA @ 7 so that the circuit remains oscillating ?
[1] 25 Q [1] 25 Q
[2] 50 Q [2] 50 Q
[3] 100 Q [3] 100 Q
[4] 200 [4] 200 Q
144, THET r=acos? 0 TN FRRM 9o 144. The central force acting on a body

¥ Tl e W BFIRG 3=9 &,

P AE R to the nth power of the distance,

where the value of n is :

moving in a path directed by the

equation r = acos? 0 is proportional

[1] —4 2] -2 [1] —4 2] -2
[3] 1 (4] 2 [3] 1 (4] 2
145. el it @ SR H@emr d Tﬁ?ﬁ 145. Round off to the appropriate number

(round off) &% :

of significant digits :

25.214 + 104.6 + 9.0320 + 4.36 25.214 + 104.6 + 9.0320 + 4.36

[1] 143.2 [1] 143.2
[2] 143.20 [2] 143.20
[3] 143.206 [3] 143.206

[4] 143.2060 [4] 143.2060
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%g 2] 3g

3] Jeg [4] 3)g

2 Q & Th Y HHY b T
S (Tl &F) § 3T 81 aRX &
m g 3R UF o S

43

g # AW e (et o daiee
% IUET FA Q)

[1] 2 Q 2] 3Q
[3] 4 Q [4] 6 Q

% foE fayge 9 g ‘0’ W R B
AR x-o18 % offfedr FRRM e mr

2l fogd fage @ g9 @ @& fag P
R foE & y-o1 & §EFiR 81 OP,
x-3787 % HII 6 P I B, a9

[1] tan9=\/§
[2] tan®=+/3
[3] tan®=+/1

[4] tanO = %
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146.

[A]

A meter rod is kept vertically with
one end on the floor and then it is
allowed to fall. Assuming that the
end on the floor does not slip when it
hits the floor. The speed of the other
end will be :

[1] gg [2] 3¢
31 \6g [41 3¢

A resistance of 2 € is connected
across the one gap of a meter bridge.
The length of wire is 1 m, and an
unknown resistance greater than 2 Q
is connected across the other gap.
When these resistances are inter-
changed, the balance point shifts by
20 cm. The value of unknown
resistance will be (neglect any
correction) :

[1] 2 Q
[3] 4 Q

2] 3Q
[4] 6 Q

An electric dipole is placed at the
origin 'O" and is directed along the
x-axis. At a point 'P’, far away from
the dipole, the electric field is
parallel to the y-axis. OP makes an
angle 0 with the x-axis, then :

[1] tan9=\/§
[2] tan®=+/3
[3] tan®=+1

[4] tanO =

Sl -



M

HiaE Bredr o oiR SEd B b &l
T Jaa A (TgE) A T @
FgTHd aE W B TN @ o
el @@ o & (S AfRreshar
% Fohd &) o & gEHE g M
Td FEAM m B ThH GEE A
(T79) & =@rem @ Fran o 21 9@

T o (sif) 3 v, = "5 g

W oPMY (b - a)
4

H Al 31 AR ko

g, 9 o, B, yTd &% A HAT: E :
11 2,1,2,1 [2] 1,2,2,1
3] 1,1,2,2 4] 2,1,1,2

TR L H dX HB W H TH gd
M%wﬁgmgw%%m

I Fusel # § yafed &l 21 sl

F T RReER %ﬁBﬁ?’éTD‘TCIT
3l gl W oAfEH  Sargel &
HHl 8

IBL? IBI?
[1] [2]
4T T
IBI 2 2IBI2
[3] o (4]

149. Take a thin tube of inner radius a

and outer radius b. It is made up of a
non-magnetic conducting material of
conductivity ¢ (which is the inverse
of resistivity). As soon as a magnet
of magnetic moment M and mass m
is dropped through the tube, it attain

a terminal velocity V; = % I
¢ PMY(b-a)®
ko 1 ,then the values
a

of a, B, Yand d are respectively :

[1] 2,1,2,1 2] 1,2,2,1
31 1,1,2,2  [4] 2,1, 1,2

A wire of length L is bent in the
form of a circular coil of some turns.
A current I flows through the coil.
The coil is placed in a uniform
magnetic field B. The maximum
torque on the coil can be :

IBI? IBI?
[1] [2]
4 T
IBI? 2IBI?
[3] - [4]
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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